(1x)

Planes bisecting the angle between two planes
ax+by+cz+d =0 and a,+by+c,z+d, =0 1s given by

‘\‘.lllag +b§ +C§ ‘ /

Of these two bisecting planes , one bisects the acute and the othgr obtuse angle between the given
planes.

a;x+b,v+c,z+d, ‘

a,x+b,y+c,z+d,

(2 2,2

M Equation of a plane through the mtersection of two planes P, and P, 1s given byfP, +2.P, =3
[N E——— <

— e e —
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Problems

A plane which bisects the angle between the two given
planes 2x— y+ 2z—-4=0and x+ 2y + 2z—-2 =0, passes
through the point (2019 Main, 12 April 1)
(a). 4 —4,1)- (b).(L, 4, - 1)

(©) (2 4,1) T - 4,) '

/ | — _yt22 _;I Xt2y+22- Z/\
/\/%f: J dﬁéii i;J
‘\ \/ 29t

-4 4274 = +7'y‘|';é7_
" )L-—&:j-: 2:‘

2~y t22-Y = —H Ty "2E tZ

NG ety yuz =] &

—_—
S
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Let P be the plane, which contains the line of
intersection - of the planes, x+y+z-6=0 and Q‘- “,j Ye- > tA (231*3(‘! +218) =
2x+3y+2z+5=0 and it is perpendicular to the

XY-plane. Then, the distance of the point (Q. 0, 256) @‘KL\'\'Q,D X '-d(\_u_)-\ ‘27(4/4) Cill

frJEmLi_s equal to (2019 Main, 9 April II)
(a) 635 (b) 2055 ©Ox + @y s(VY2 = 06

(F— (d)

75 NG | |
“ 9 D GOERN v

7 k =
///j -1.-;1 =1




[o=3xc®) = SAFALTA cou
-

itiative by IR 33NN

VECTOREQUATION OFALINE :

Parametric vector equation of a line passing through two point Figure

A(a) & B(b) is given b}:}f —a+ t(ﬁ—ﬁj where t 1s a
parameter. If the line passes through the & 1s
Cpm‘allel tﬂmllﬂ] its equationis|t =a + tb
-
Y= X+t (bl-_‘q‘)j t —i(pounaia)
[ |
pe w

R (T
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2 ( Ap8) —iraiach
The distance of the point having posgitido - yector

—i+ 2} + Bk from the straight line passing through the
point (2, 3, —4) and parallel to the vector, 61 + 3j —4k s
\/\~

(2019 Main, TORprl I1)
(a) 2413  (b) 43 (c) 6 (d) 7 ,—-

- — ( _ “M-_lcﬂ
/ (?z (2T+35-4R) *H(QC&BS-‘\%}/ N i_
C)L: 2+€)) (‘]:_?,.-\-3)) (Z.“— —‘.1“‘4/1) (G ) 3._)"1]
o)

= C(€a+1) +3(3an) t ()4

M

= -

AN - /
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y JHTISTEN

C STRAIGHT LINE IN SPACE ( Conkerion ,f-Mm)

tion of a lme through A (x, .y, . z,) and having direction cosmes /.m.n are

- [ m n
and the lines through (x, .y, .z,)and (X, .y

X-X; _ Y-y _ 2-7
X27% YamV1 Za77 |

,H:r-x,

= mty =
5 4 Y 2= ntiz

i+ ) 420R)y tL-m)M k)
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e by IR ISNEN

o Intersection of twoplanes ax+by+cz+d =0 and ax+by+cz+d =0
together represent the 111L*3‘»’11]111\EH‘1C“11 Ioﬁn Df the stl aight 1111e

“yar General equation of the plane containing the line

Lﬁ':(x —-X,)+ ]?;(}T -V, +§z —-z,)=0 / where|{A/+bm+cn=0
| l | \
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3)
If the Hnéx;? = }; L _Z _11 intersects the plane
2x+3y—-2z+13=0 at a point P and the plane

%x+ v+ 4z =16 at a point @, then P is equal to
(2019 Main, 12 April 1)

(a) 14 (b) 14 (© 247 2414

/ 11: 3dt2, = 2d-1 , 2= 'f‘,t’ 3(H)t (2d-1)+ q(-J’rl)\I(

2(34+1) + 3.(ad-1) - (A+1) #0132 - o~ - 7') [A=11
34 =-13 (5,150
Ea p@ -1, -3, ,),/‘ (S

= J GivE ;\‘5“
NG /
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)
The equation of the line passing through

(-4, 3, 1), parallel to the plane x+2y—2z—-5=0 and
intersecting the line

? (2019 Main, 9 Jan )
x+1_y-3_z2-2 N&S(-3A-\ 2443, -1 42)
3 2 1 ° - -
4 y-3 z-1 x+4 y-3 z-1
w = = = {-b = = =
3~ -1~ 1 - ) 1 1 1
© xf4_y-3_z-1 {d)x—-f-l:;}-'+3:z+1 3 -\
1 1 3 2 1

4
c—)
IRURYRE SN E SRS
Al —34t3, 24, -—Aﬂ).
QA 4L=?

= (\V, 2, - —
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Problems

} If the line (x;% _J +12 :3;4) lies in the plane,

[x+my—2z=09, then(i’g +m )15 equal to -
(a) 26 (b) 18

©5 D2 [

D¢ ‘Qr‘ !3)

(2016 Main)

/3!'2”\"‘11;3

312‘1

- /

- -1

A

af-2(24-3)=¢

- J:—’/
<1

Q-Q-m-‘_?,-;b

~




End of Lecture



